ASSISTANT DIRECTOR OF FISHERIES IN TAMIL
NADU FISHERIES SERVICE

Terminal velocity is related to

a. Viscosity b. Surface tension

c. Circular motion d. Linear motion

e. Answer not known

wpmBl HeangGausld elaTLFH HpHewiL 18HTH CHTL T ML UIZHI?
a. utdwed aleng b. uyiiy ®ap elews

C. el LUuTengd Suisasld d. GriGam B Buibsd

e. alenL g flualsvensv

which star is nearest to the earth next to the sun?

a. Andromoda b. Alpha century

c. Sirius d. Cygni

e. Answer not known

GTwISG DIGHHTBCUTL LaldhE DimBleeTen ealewiber o61ghl?
a. oyer’ GymGomm b. speour OFeh@sM

c. Siflwerd d. engel

e. alemL OFHflwalevensv

Rote memory is the ability to memorise verbal materials as measured
by the usual methods of

a. Recall b. Recognition

c. Recite d. All of these

e. Answer not known

eI ILITL.  [HleeTeuTBped  61aiLGl  OFTBEFTT  CUT(HeTHemen  Hleneeyl (BLD
HBST G, Bemnd enall LWSILBHD CUTHIOUTET (LemB (H6IT)  6I6ITLI)
(emau)

a. Hlenere] gnTHe0 b. omEsisHsHe0

c. Fmbu PUIalHHe0 d. BmeaiseT DIMSBIHHID

e. alewL OFMwalsvensy
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Intelligent behaviour directly depends on

a. Memory b. Instincts

c. Innate Behaviour d. Reflex

e. Answer not known

SIPUTTHS BLHMS SLPHENILUBDIGT eiHenent CHIQUWITS FTTbHEleTeng?
a. BenereuTmm;ey b. 2 _sitememniiey

C. 2 6lenMhg HLHMSD d. dyguediiy

e. alemL OFflwealevensv

Name the Indian - American aerospace engineer who led the
‘NASA’S MARS 2020 MISSION'.

a. N. Valarmathi b. Swati Mohan

c. Kalpana Chawla d. Devaki

e. Answer not known

@b — o0wilss alaiGeuaill Qumplwment, BrTFTaler GgeieuTul 2020
FH L GFweOLTBHM6T aulfl [HL GHABUIGIT.

a. [b. GUGMTIDG) b. erbeurd) Giomaest

C. HEOLIRIT F6il60T d. Cxpeud

e. alewL OFflwalsvensy

10% reservation for EWS (Economically Weaker Sections) guarantees
by which Constitutional Amendment

a. 100t b. 103+ c. 27th d. 75th

e. Answer not known

115} SITFUWI6VEMLOLIL FU L H(HGHBID QUIT(HEMTHTY faHulev
LievaiaoTaralTaehd@, 10% B @Hisbdl ol 2 BIFiuBGHSHIBBS.

a. 100-eug| b. 103-6ug c. 27-aug| d. 75 eug

e. alemL OFHflwalevensv

Indian Nuclear Power Programme stage-3 aims using
'fuel of the future'.

a. Radium b. Polonium

¢. Thorium d. Actinium

e. Answer not known

OphHU DIEWISHH BWEL HLLID - Uy — 360 & GISHITHTEV
aMEuUTHeTH LWAIUGSHS S L O (HelTerngl.

a. Griguub b. GunBsumefluib

c. Gamilwib d. sysigeiuib

e. alemL OFflwalevensv
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Which one of the following language is not an Indo-Aryan linguistic
family?

a. Balti b. Bihari

c. Bengali d. Bagheli

e. Answer not known

Nettaupd Gomplseied @HGHT — oufiur Goml GhHusbdHed Caymmgl e1gi?
a. umevlg b. W

c. Qumsmer d. uBsed

e. alewL OFfwalsdensy

Which river is known as Tsangpo in Tibet?

a. Damodar b. Manas

c. Brahmaputra d. Mahananda
e. Answer not known

HoLgFHe0 FTRIGUT GIRIBENPSSILIGL BFH 61HI7
a. HGTHT b. wmererd

c. Uywyggm d. wemTEHST
e. alewL OFflwalsensy

Consider the following statement/s is/are true in respect of size of

India :

i. India has 4.42% of the Worlds total land area.

ii. India has an area of 3.2 million sq.km., making it the seventh

largest country in the World.

a. (i) only b. (ii)only

c. Both (i) and (ii) d. None of the above

e. Answer not known

&0 OaThasLIUL (BeTeneuBmpieT @phHuwimaler Guflw Fwbeuel GGHTL TLITe

giwmer FaBm / FBoIE6T &HHHHeO CETelTenab.

1. o eudle OTHs Bleoliugriied SbgHwm 4.42 FHNHHMBD
OB TemIY (hHSHFH BB

1. @bsHwmeler ugliuene] 3.2 wWevedwer &I &S0 LiTHeT, NHCou @I
® U6l Glomeaugl QUi BTLTS 2 6iTeng).

a.i L (B

b. (ii) w G0

c. (i), (ii) «dHw Brewi(d

d. GumsmpweuBled ergiad Eevenev

e. alemL OFflwalevensv

3 | Page  044-24339436, 42867555, 9840226187




By which amendment the word 'Secular' was added to the Preamble
of the Constitution?

a. 22nd b. 32nd c.42nd d. 52nd

e. Answer not known

b FLLSHMSSHHe cpsod (Secular) ‘FowismiuBns’ 66  aUTTSHms
SIIFwed FTFaHHen (WHLImTuled GFTohsliul L gl?

a. 226zl b. 326usl c. Reaugl d. 52euzl

e. alemL OFflwealevensv

Who mentioned about the Rose Merchants of Vijayanagar?
a. Barbarossa b. Abdur Razak

c. Nuniz d. Paes

e. Answer not known

alwpsrsHEH Crrer elwrumiisenert umpsl @O LeuT wimiT?
a. umru@ymam b. sngit yeTs

C. Muyeierd d. wwerd

e. alewL OFflwalsensy

Under Maratha administration, the Amatya or Majumder was
appointed

He was responsible for the account of Income and Expenditure
of the state.
He was responsible for the personal safety of the king and
supervise his daily routine work.
He was the foreign minister.
iv.  His duty was to see that all royal letters.
Which of the above statement is correct?
a. (i) b.(ii) c. (iii) d. (iv) e. Answer not known
SIDGHWT  HIGL6VGEH]  LORPIDSHTT  eleiilieued] ITHHW L Fufled  Hluioestd
QFUIHe0TT.
1. ST  THVGHH aufe) CFevey Hewibend UTTULSHD CQUTBIILTS
BIUWILD&SLILIL L.
11. eterfledl LTHISTIL WBLID Heoll o Galwmenyrasead Sieufler Hera
Gouemesvamemen GoBLIMTTeneUT(Heuged
ii.  Geueflwmeysd Hewm WhHHMwTe Bubldsriu L.
V.  9IIRIDmIHEG QI(HD SHUT6OHMET LTTILS Dleufler SHLenOUWITEGLD
GuoBanpslweumiled 61&h Fflwimet FnBmmT@w?
a.(i)  b.(ii) c. (iii) d. (iv) e. alewL OFMNweaisdenso
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Identify the false statement about the Central Bureau of Investigation.
a. Is a statutory body.

b. Is not a statutory body

c. Derives its powers from Delhi special Police Establishment
Act, 1946

d. Is the main investigating agency of the Central Government

e. Answer not known

DSHHUW LJeveTTule] SLewemiuild Ul SHeummenr CFTBOBTL T H6wTL .
a. @@ FLLFSHWTeT SlewLLIL]

b. @® FlLfHAwTeEr e D606V

C. OLeved el L Gumeled uedL Sewioliy FLULID 1946 ed(hHbH Heor
DS BTSN OLIBIH GBS,

d. wsw ot WeAw aNFTremem (SO QLG

e. alewL GzMuwalsdenev

When was the Indo-Tibetan Border Police (ITBP) raised?

a. 02 October, 1969 b. 12 October, 1972

c. 24 October, 1962 d. 30 October, 1975

e. Answer not known

OHBHT — FHOLG 6160MEV HTeUED ETLOILITIDSI FBLBSHSILILLGI?
a. 2 o&6Lmu, 1969 b. 12 &&GLTUT 1972

C. 24 o80Lmuir, 1962 d. 30 e&GLmuT 1975

e. alewL OFflwaisdensv

Assertion (A): The Chief Minister is the channel of Communication
between Governor and the Council of Ministers.

Reason (R): The Chief Minister is the head of State Council of
Ministers

a. (A) is false, but (R) is true

b. (A) is true, but (R) is false

c. Both (A) and (R) are true, but (R) is not a correct explanation of (A)

d. Both (A) and (R) are true, and (R) is the correct explanation of (A)

e. Answer not known

FaBml (Fn) : SLEHHT  OBHBID  DMFFTMISG Bl B HBHeI6L

QLT umeLLDTs GFWIEOLIBUGUT (LPHeLGUT G LD.

HMTEID (HT) LOMTHI6V SIMIDFFTN6U GIRIETE) HEMEVATTH
CFwIeOLIBGLIGUT  (LP&HELGUTTEUMIT.

a. (gn) HUBTRIH WLBWID (HT) FHWLTEIHI

b. () gfwreig wLBEBID (HT) HeUBTEIH

C. (&) wBmID (&1) @pewiGd &fl, opemed (HM), (F) &G gflwmen
aleNThBLD  E)60606V
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d. (g) wBmd (s1) Hyewihd &, wWBBID (BM), (W) &G ghwmer
allendaID
e. alewL OFfwalsdensy

Select from the given provisions the correct one that was inserted
under Article 51-A of the Indian Constitution under the 86th
Amendment Act 2002?

. Respect the National flag and the National Anthem

. Protect and improve the Nations' Natural environment

. Safeguard public property

. Parents to provide opportunities for education to their children

between the age of six and fourteen years

e. Answer not known

86-aug FLLSHIHHSID cpeold BhHul SFFlwevenoliF FLLGHFH6T el
51-A & Gatesiu L  gllwmer  FrHmBHE  SDEHEIL aUBSleN(HHS!
CxiTh0HBHHHLD

a. Cafw b wBpID Chfuis GETgmU! LLFHGSH6E0

b. BTLYeT BUBMBF @06V LITSHIHTHEH60

C. BT CQUTHEF CFTSHMBL LITHIBTEHH60

d. OGumGurt smiseT PHHEH UHBTSESG UG QIed) 2 6iTer
SHMBHBEHHHTET H60a  6ULOMIEHFH60
e. alewL OFflwalsdensy

18.  Why certain expenditures are called Non-plan expenditure?
a. expenditures not planned
b. expenditures not included in the five year plan
c. expenditures included after preparation of plan
d. expenditures of miniscale amount
Answer not known

asamed  Hev  GQFeveydemen FHULID  FIIT  eumHaITU  OFeVa|BH6IT
SIMPSHHEBTID?

a. L CumiiiuLng GFeve|Hei

b. mbaTatih HLHH0 auIrsh CFeva|der

c. FL CGumiL Vet GaFTdaslILBL OFeve|Hel

d. WaF QarBuwTar OF6V6|BH6l

e. alemL OFflwalevensv

Who said that the preamble of the constitution is "the political
horoscope of the constitution?

a. KM.Munshi b. Dr. B.R. Ambedkar

¢. Mahatma Gandhi d. Jawaharlal Nehru
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e. Answer not known

SIFFlwevemoliL]  (p&LILem] 6l “‘OiFFluwevenioliier SIFFluled MTHHID’
oT60IE  SmpMluteuT uImiT?

a. Ga.e1b. (PO b. Dr. B.R. oubGusasit

C. LDSTHON HMH d. meaammeored Gp(H

e. allewl  OFfwealedensv

The function/s of Reserve Bank of India are :
Issue of currency
Banker to Government
Banker's Bank
Exchange Management and Control
a.l only b. 2 only
c. 2 and 4 only d.1,2,3and 4
e. Answer not known
BphHw Mael eumdulesr QFweour® / CFuIeOUT(HHETTEI:
. Breorwl Geuerilui®
. SIJFTRISSHSH6GT  GURISILITET
. QUMRISIH6MET GUBISIWITENIT
. uflorBp Gevmesientd BMIDL L HUTH
. 1 L (Bb b. 2 w @G
. 2 BmIb 4 WL BID d.1,2,3 By 4
. alewL  Gafluailsbensv

The founder of the Abhinav Bharat Society
a. Jutin Das

b. Surya Sen

c. Madan Lai Dhingra

d. Ganesh Damodhar Savarkar

e. Answer not known

SILbBey UMISH FhsD CaHTBmieldhdHeuT wmi?

a. M|&Heir HTerd b. @&mwr Gger

C. LD&HGIT 6UMT6D HIMISIT d. =Cwiad HTCOTHT FeuTHT
e. alemL OFHfwalevensv

The Mohammedan Association, the first Muslim organisation in
Bengal was established in the year

a. 1823 b. 1835 c. 1843 d. 1855

e. Answer not known
AURIBTONSHH60  (IPH6L  (per0elld  DWISHSIOTET,  (IPHHU  QuibSLD
CarmBmialsasliul L emih
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a. 1823 b. 1835 c. 1843 d. 1855
e. alemL OFflwealevenso

The article 'Why [ am an Atheist' written by

a. Lala Lajpat Rai

b. Bhagat Singh

c. Bhagawati Charan Vohra

d. Chandrashekhar Azad

e. Answer not known

‘b6t gJeil BTHIHBHUTH™ 6letianlld S (hewFenl eT(SHWwieuT ulmr?
a. 6UTeVLT 6VEQLIZ Jmul b. usgs Hmi

C. useugl gyenr Ceuramym d. spHrCsat ouans

e. alewL OFflwalsensy

A book "Eighteen Fifty Seven" was written by

a. Dr. Alexander Duff b. Dr. S.N. Sen

c. V.D. Savarkar d. J.W. Kaye

e. Answer not known

‘LHOWIB WDUSH g 6B LUHDHBHMS 6I(LDSHILIGUT
a. LO&LT. 9660HFTemIL T L. [

b. LnsLT. ererd.eleir. GFesr

C. allg. FTOUTSHSBT

d. Geg.Lifeimuy. Gapul

e. alemL OFHfwalsoensv

The Tamil Nadu State Social Welfare Board

i. It was established in 1954

ii. It has undertaken many programmes for women and children

iii. It has welfare programme for scheduled caste, scheduled tribe

and orphans

Which of the above statement is/are true with regard to TN social

welfare board?

a. (i) only b. (i) and (ii)

c. (i) and (iii) d. (i),(ii)and(iii)

e. Answer not known

SIS FeLpsd HeLeUMTLILD

1. 1954-60 2 (HEUTHSBLILILL G

2. Queise, & LDHED HB6TT [H6VENET gBUBSHS SHILL mIBH6IT
CFwWeOLIHSHSLILBGH MBS

3. SCs and STs wBpd ouFH76e Ge0eoTCHTTHEHEHBTE  HI L BIH6IT
BEDL (LPEmBLILGSHSLILIL (HETETSI.
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GuomamPwl FmBmisefled 61& / elemau 2_ewienio?
a. (i) w @w b. (i) wmpd (ii)

c. (i) wmppid (iii) d. (i), (ii) mpib (iii)
e. alemL OFflwalevensv

If difference between compound interest and simple interest

for Rs. 32,000 for 2 years is Rs. 20 then the rate of interest is

a. 2%% b. 2% C. 6%% d. 4%% e. Answer not known

ah 32,000 SIFNHG 2 UWBBEHHEG HMLEGD L (Bl 19HGID,
sl 19bGD  DemL Cuiujeiten  alHHwTFID eH 20 eleled  aully  aiHld
616116161T6Y 7

a. 22% b. 2l C. 61% d. 41%
3 2 4 2

e. alemL OFHfwalevensv

Who is the author of the book 'Marainthupona Tamil Noolgal'?
a. Mayilai Seeni Vengatasamy

b. Thirumeni Rathina Kavirayar

c. M. Ragava Iyengar

d. M.V. Aravindhan

e. Answer not known

‘ioewmihal Cumenr SO HIeLHeT — SFflwiT wmT?
a. wulemev el GeumissL il

b. HECwal yHHer sdalymui

C. (p. JM&H6U EQUIMISBITIT

d. w.omel. oeibse

e. alemL OFHflwalevensv

Identify the group, those who were called themselves as
'Varnashrma dharmangal anupalitha' in the history of Tamil Nadu?

a. Pallavas b. Pandyas

c. Nayaks d. Tondaimans of Pudukkottai

e. Answer not known

SOE sugeuTBrled ‘euemim FFID HTORISET DIEILITEVSH 6160 HHIHENET
DIMPHFHIH O\BT60TL 6UTH6NT?

a. LIGL6LRITEHGIT b. umesngUITSET

C. BTWSHHTH6NT d. uzIBCHT L OHTERTENL LDTETEH6IT

e. alewL OFMwalsvensy
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"A carpenter who makes eight Chariot's a day. How strong a
Chariot's wheel if he takes one month to make that one". What is the
implied meaning of this Turananutru Padal'?

a. A strong person

b. A victorious person

c. A charitable person

d. One who supports poets

e. Answer not known

‘e1eniCHT QFULIUD HFF6u

HiiseT  aeldhHs sTeooer  CemBenr” —  elgmId  LMBTEOIB®I  LITL 60
o _eITGHHID CIT(HEIT.

a. euellenD o 6L ULIGUGHT b. Geumpd GumILIGIEST

C. OamenL O&THLILIG6T d. yeveueny SHMILIGIGT

e. alemL OFHfwalevensv

"Last full moon

We had our father, we had our hill".

In which division the poem Purananooru Express?
['Atrai Thingal av venilavin

enthaiyum udaiyem yemkundrum perer kolar']

a. Helpless state in distress (Kayaru Nilai)

b. Mazhapula Vanji

c. Porunmozhi Kanji

d. Perumkanji

e. Answer not known

‘OIBemBsH HmIFB6T DielbealewT ewflevd et

abmSUID 2 L Buib 6NbGSIBID LIBTOSTEMTT — 6D  LBHTeTBHIL
LUTL 6D 2 _6WITHSHID Hiewm 6157

a. emsWEBl Hlenev b. wpLe0 auEhd
C. QumpemTOwTNS HTehd d. Qu(pEIsTEhHd
e. alemL OFHfwalevensv

The father of economic Ecology is
a. Gandhiji b. M.S. Swaminathan
c. Sivan d. Nammazhvar

e. Answer not known

QUTHEMTHTT  GHLDeVIWINET HHewdH 6T ILIBLIGUT

a. sMhFH b. erb.eterd. FeumOBTSH60T
c. dleuedr d. mibompbeurit

e. alemL OFHflwalevenso
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Consider the following statement.
Parson valley is associated with
1. Hydel energy

2. Solar energy

3. Nuclear energy

4. Wind energy

Above which one is correct?
a.2,3 b.1 c.1,4 d.4 e. Answer not known
SIEHHEWIL. FnBenB HTTUIS.

unireer Geusl ermemedt SMIHSHHI?

1. yerev W0GTEFTIID (BT SLBM6L)

2. GTW &g LOGIFTJD

3. SIamIN&T BMmeL
4. STHBTEN6L LOGITFTILD
BwBev 2 _siTenmemeuuled o1xkl gflwimer alenL ?

a. (2), (3 b. (1) c. (1), (4)
d. (4) e. alewL Ozfweaisdensy

is a cash award given to Hindu Adi Dravidar students of
Tamil Nadu (one boy and one girl) who secure first rank in each
district in plus 2 public examinations.
a. Thiruvalluvar Award
b. Ambedkar Award
c. Annal Gandhi Memorial Award
d. Periyar Award
e. Answer not known
@6UGeuT(H  TaUl L HHevd, uaiefOFemiLmd euGly Gurgld GCxitalsd
WoHLD Ugs@h sUlps Sba <pd HITell  WIeamTeEbsd (@b
SLEWT OBMID @ GuewT) eauPmISLILGD CITds al(ha LG LD.
a. FHmaueenalT al([hHSl
b. oubGusatt al(mal
C. Slewienied HMhHFH Hlenesia] al(hHl
d. Qufwnt &lmal
e. alemL OFfwealeoensv

Government of Tamil Nadu was published first Human

Development report in the year
a. 2000 b. 2001 c. 2002 d. 2003

e. Answer not known
SOs SFler  (PpHev welHeuen GG oPbens  GeuellulL i’ L
SL,G0TL_ TG ]

a. 2000 b. 2001 c. 2002 d. 2003
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e. alowL  OFMwalsdensy

e. alemL OFflwalevenso

The TICEL park is

a. Rubber park b. Textile park
c. Food park d. Bio park

e. Answer not known

LLMISIT  6T6ITLIGI

a. @yl 1 mIsT b. 23ayel ymisT

C. 2_ 606 LiRIGIT d. o ulfl ymism

e. alewL OFflwalsvensy

Why Chengalpattu District can be called as "the Gateway of

Chennai'"?

a. It is the threshold to the State's capital from Southern Districts

b. It is the threshold to the State's capital from Northern Districts

c. It is the threshold to the State's capital from Eastern Districts

d. It is the threshold to the State's capital from Western Districts

e. Answer not known

CamimeoUl’ B WTal L SHms OFaieneiulle  Hieweuruled”  6lediml  6Jeur

DIMLPSHHEVTLD?

a. Omer wTaU LEGeMed(hHbheh HmeBHHHEEG CFe0ID HlienweuTuleors
B(BLILIGHTED

b. e e LEiBaNeI(BHbH HMVBEHHBEG OFeOad  HlEPeUTUTEUTSH
B(BLILIGHTED

C. Hpd@ WTal LmseMel(hha SHMVBI(HEEG OFead Hlenpeuruleors
B(BLILISHTED

d. Gumbg wral LRiseMelhHhe HMeUBHHBEH CFOMID HIPMITUNEOTS

B(BLILIGHTED
e. alemL OFflwalevensv
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2 —
If X 25 is divided by X;FZ then quotient is
X+ X* —

a. (x-5) (x +3) b. (x - 5) (x - 3)
c. (x+5((x-3) d. (x +5) (x + 3)
e. Answer not known
x*-25 . X+5
X+3 TS x> -9
a. (x-5) (x +3) b. (x-5) (x-3)
c. (x+5((x-3) d. (x +5) (x + 3)
e. alewL OFfwalsdensy

LY AUGHBGHD CUTH HenLSHGD Fe

Find the sum of infinite terms of the geometric series + 16 - 4 + 144 -
43 + .. ...
a.4 b.-8 c.-3 d. -4 e. Answer not known

+16-4+144 - 43 + ..... &3 QUBHSSGHSH OHTLT euflenguller (pgeymm
9 MILLSH6T 6UDT Fn(HH6V SHT6IISb.
a. 4 b. -8 c.-3 d.-4 e. alewL Gsfuwalsbency

If the consecutive English alphabets A to N are represented
respectively by the integers from 14 to 1 and alphabet 0 is represented

by zero and the alphabets P to Z are represented from -1 to —11 then
find the sum of integers representing SUCCESS?
a. 16 b. 16 c.2 d. 18 e. Answer not known

A wzed N euewguieorer Simide 61(1pSHHIHH6T (BB 14 (1pHev 1
Al  GPRGBILUGSBH. BB  apdhH O  e@ug  LuUIGHHe0
GMBBHILGHMBH Gad (1pHev Z euedIuieoTen SRIF6E0 6I(IDSHHIHH6T -1
WH6e0 -11 euemyuievmedr (pup eTewibemmed Guldsiiul Lmeo SUCCESS ereim
SRIF60 UTTHMBUND 2 6116  61(SHBHIHHM6NSH GHBHGWD (P  6T6mT8561T 60T
Fa(HBH6V HT6WIH?

a. 16 b. 16 c.2 d. 18 e. alemL Gz flwealsvenev

Pipe A can fill an empty tank in 6 hours and pipe B in 8 hours. If both
the pipes are opened and after 2 hours pipe A is closed, how much
time B will take to fill the remaining tank?

a. 7hrs b. 5hrs C. %hrs d. B%hrs

e. Answer not known

QR Oeummid QBT 1genul Gomul A 6 wenl CGhrrsHdHevd @omul B. 8 ewfl
Cpyddlaud Blu  @igud. BB  GWTUSEHD HBSSIULH, 2 6w
Crrsamal Uear@wmul A epliulLme, g peTen O mlgepul Byl
Gomu1 B eelauena] wewfl GoID eihdHadh Gsmeenbd?
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a. 7 LDewl&BeNT
C. imewﬂasaﬁ
96

e. alemL OFflwalevensv

A is thrice as fast as B. If B can do piece of work in 24 days then find
the number of days they will take to complete the work together.

a. 5 days b. 6 days

c. 8 days d. 9 days

e. Answer not known

A eeueuT B aeiiueuenyd  &Mge0id Gauensy OFUIeIFH60 P63l DL IS,
Gousiomeneu. B gpemeu e@n Geuemevenut 24 B Herfled (LIQLILITT  6T60T60,

BmeurblD DewewibdH DibHSH Cauenevedul (PIYSHD 615HHMET BT H6IT 61(HHHIH
O®ITeiTeUT 616018 SHT6EMIb.

a.5 BILSe b. mm el C. 8 BT &6l
e. 9 BIL&6T e. alewL OFfwalsdensy

The difference between the CI and SI for 2 years for a principal of Rs.
500 at the rate of interest 8% p.a is

a. Rs. 32 b. Rs. 38 c. Rs. 48

d. Rs. 50 e. Answer not known

o 500 H& 8% e euliguied 2  LaIBBEHEE Tnl BEULI19HEGID
SHeolaul 19HGWD AewL Cuiujeien al&HHWImF1D

a.n 32 b. a5 38 . o 48

d. ap 50 e. alewL Gxfuealstency

A sum of money amounts to Rs. 2,662 at the rate of 10% compounded
annually for 3 Yr. The sum of money is

a. Rs. 2,000 b. Rs. 1,800 c. Rs. 1,500 d. Rs. 2,500

e. Answer not known

10% ouewi® eullguied SLEBIHHOBTHIPMB QI 19  HEuThSILLILILLT6, 3
10T (HH61T6D oI DIFEUTEIH h 2,602 OHTMSUITH DLELD.

a. @ 2,000 b. @ 1,800 c. ap 1,500

d. em. 2,500 e. alenL Gxfwailsdensv

£1000:10 = x : —~ find x.
1000

a. 10 b. L
10

e. Answer not known
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1000:10 =X : ——— aefled X -G LA LIDLIS  BHT6u01E.
1000

a. 10 b. L c.1000  d. 1
10 1000

e. alemL OFHfwalevensv

Which is the largest ratio?

5:7,1:2,3:5,7:10

a.5:7 b.1:2 c.3:5 d.7:10
e. Answer not known

SPHHMILaBMmIeT WsluTw alFHHHmBHd HTeHISH.
5:7,1:2,3:5,7:10

a.5:7 b.1:2 c.3:5 d.7:10
e. alemL OFHfwalevensv

Find the Highest common Factor (HCF) of 21x2%y, 35xy?.

a. 3x3y?3 b.5x3y3 . 7xy d.9xy? e. Answer not known
21x%y, 35xy? syPweuppen LOL®H GUTH UGS (15.0UT.00) HTEwIS.

a. 3x3y? b.5x3y3  c.7xy d.9xy? e. alenL Gzfluealsdamev

Find the Highest Common Factor (HCF) of 408, 170.
a. 36 b. 34 c.33 d. 30
e. Answer not known

408, 170 o113 eTewizmeflest SIGLMH GUTH aIGHHHmW STewisb. (15.61LT.6a1)
SBITE0IE.

a. 36 b. 34 c.33 d. 30
e. alemL OFfwealeoensv

The radiation with highest energy is

a. X-ray b. UV-ray c. IR-ray d. Visible light
e. Answer not known

DFHB BBIL T AMBIGLD SHTeTFaH ASLD.

a. e1ben HAHIT b. us eagrd S

c. gsdaliy &Hi d. sevieanim e

e. alemL G flwaledensv

Decibel is a unit to measure the

a. Intensity of Radiation b. Intensity of Sound
c. Intensity of light d. Intensity of heat
e. Answer not known
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QL&ued eTaiTLIG M SEMHEGHD Q(h DIVGH DGLD.
a. s@raiFdear QaFpey b. @& Qansley

c. @allF QFpsley d. Qg Gapey

e. alewL G flwailsdenev

Open mindedness is a trait of

a. Discovery b. Concept learning

c. Scientific perception d. Scientific attitude

e. Answer not known

SHBHSH LD ILITETENLD 6T63IMB  LIGUOIL GLD.

a. sewBLIQLIL] b. am&H3 BHBBEL

C. 9Plalwed Leoaism &l d. efeluied el iLImesTenLD
e. alemL G flualedensv

Why two wheeler are not normally fitted with diesel engine?

a. Less efficiency b. More smoke

c. High power d. Less density

e. Answer not known

geil QTeWI(h FHB] AUTHMIBIHENMED leF6e0 6lehFla CUTHHHLILBMIH0LmM60?
a. GmBbHEH Hesr b. 9Hs ums

C. 9IFH Hmeit d. eoBbhs SILTHH

e. alewL G flwalsvemnev

"SANKALP" is an Initiative associated with

a. Learning Programme

b. Skill Development Programme

c. Decentralization Programme

d. Capacity-Building Programme

e. Answer not known

"SANKALP" eemug  @s5Cam®B  Gamiiydiuw  OFThHToHHsH 60
WPSBUIQUITELD

a. sMBeL FHLID b. #Hmeir Gobum G & Lib

C. QIFHBTT UTaUITHS &I L LD d. Hpewio — 2 (HauThs S LD
e. alemL G flualedensv

The formation of Kerala state in the year
a. 1943 b. 1946 c. 1953

e. Answer not known
Gxyemm LOMHeVID 2 (HeUTHSUILIL L. GU(HLLD

a. 1943 b. 1946 c. 1953
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e. alemL G flwalevenev

Khelo India was launched during the year

a. 2015 - 2016 b. 2016 - 2017

c. 2017-2018 d. 2018-2019

e. Answer not known

CxsBeom @HHWIT 6b%H euBHLLD OCdmeni(h euFlilLl L gi?
a. 2015 - 2016 b. 2016 - 2017

c. 2017-2018 d. 2018-2019

e. alemL G flwalevensv

The UN heritage site which is aimed to be a special development
zone called 'Mecca for Buddhist' recently is

a. Bodhgaya b. Sarnath

c. Lumbini d. Mukthinath

e. Answer not known

UN 2 sva umgibuiiw sHemd o maumssulhés@l “USHOHHH T LSS
— iy Gbum (h OERIL 60D 61HIG 2 _6iTeng)?

. USSHBWIT b. gmpTs

. oIbL el d. wsIprsH

. allewL OFflwalsdensy

Which of the following is related to summer season of cropping?
a. Zaid b. Rabi c. Kharif

d. Dry farming e. Answer not known

LNeitaumeuetiaummien o1&k Gameml. &meoll  Lheu  Geuenmenteniou L 63
OHTL T WIZHI?

a. gL b. gm9

c. sl d. eupewi_ GeuermemTento

e. alewL Oz flwalsdenso

Which of the following soil is very rich in Humus?
a. Laterite soil b. Forest and mountains soil

c. Marshy soil d. Alluvial soil

e. Answer not known

LTeTeu(hHeueTaUBMIGT 61h& Loewienied o uliTgsHgl e DIHSPeiTend)?
a. Geol LewyL.  LoeuwT b. &M (B WBBID DMV LDEIHT

C. F&I Hlev LD6wT d. euewi6d LDGuT

e. alewL G flwailsdenev
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The famous Virupaksha temple located at the place

a. Sri Kalahasti b. Sri Bhadrachalam

c. Hampi d. Chidambaram

e. Answer not known

Lsump ‘elmurdagt’ Gamalsd SiemwbieTen @ 1D 6187
a. 1 srenamed) b. nf ugyraeod

C. amibLi d. Agbugd

e. alewL G flwailsbenev

In the Maratha administration 'Sumant' is named as

a. Prime Minister b. Commander-in-Chief
c. Judge d. Foreign Minister

e. Answer not known

WJTHHUW BIiTeuTd (pedmuUled ‘FHiohg’  6ledTLIeUT WImT?

a. Ugslo Siemgat b. Gzemug)

Cc. pHUS d. Geueflwme; SiemDEFST

e. alewL G Mfwalsdenev

Which one of the Statement is correct regarding Dauladabad?

1. Dauladabad mean city of wealth.

2. Another name of Dauladabad is Devagiri.

3. Muhammad bin Tughlaq changed his capital from Delhi to
Devagiri.

4. Dauladabad was one part of the Bhamini kingdom.

a. 1 only b. 2 only c. 3 only d.1,2,3,4

e. Answer not known
SLHeILmaudbefled OHemevsUTsh uBPw Fammiseied Fflwmeng e1gi?
. OxemeumLITS 6lemTed OFeveuld OFMNSHSH HBTD 6l6eTm GILILIT.
. OxpenevgpurdHear wBEBTMH GuwT Gxheudfl
. (pag et gHidbend  Hmeobdm] OLsveduled @mbhaH CHeudlfleg,
LOM3SIGOTTT.
. OgemeuaUTdH, uTdell OITFeT @hH UGHSHWTGLD.
. 1 W (Bw b. 2 wl B c. 3w ewdl234
. alewL G fluwalsbenev

The first Afgan rule in Delhi was founded by
a. Malik Bahram

b. Malik Mardan Dawlat

c. Bahlul Lodi

d. Islamkhan
e. Answer not known
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OL60edUT6D (LpHe0 SYlIBTaT L Flenwl Hmieluleu

a. 1medd UTQBTD b. wrels wWTHTET OHerTevsH
c. uameied Geurig d. ®erdeormid et

e. alewL G flwalsbenev

The smallest weight found at the Indus Valley sites
a .675 b. .850 c. .875 d..785

e. Answer not known

Fbgl F00eueMulled semiBLgSaILLL 106 GMBHS DI6N6] 6TenL
a .675 b. .850 c. .875 d..785

e. alemL OFflwalevensv

Match the following :
A. R.V.S. Perisastri 1. Former Chief Election Commissioner
B. A.N. Roy 2. Former Chief Justice of India
C. Charan Singh 3. Former Prime Minister of India
D. B.N. Jha 4. Former Chairman of UPSC
A B C
1 2 3
2 4 1
3 2 4
4 3 1
Answer not known
LeTau(hHeueTaImBens  CLIT([HHSHIH:
A. RV.S Qufl gmedgdM 1. (1peIanmed Henevenip BHTHeO &L6M6uoTUIT
B. AN. gmul 2. (lpeitemmed @HFH U HmeLEID HAHLIF)
C. syeidm 3. (pelianmed @&l LygLoT
D. B.N. san 4. apasiemed UPSC  semeveui
B

a.
b.
C.
d.
e.

C
3
1
4

1
Waile06m6V

The Supreme command of the Defence forces of the Union of India is
vested in whom?

a. The President

b. The Parliament

c. The President but regulated by Parliament
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d. Chief of Defence staff

e. Answer not known

@phHU  @EMwSHeT  UTHISTULL  UenL el  IBHTel 2 WITgHel

SLEETIWH ST Wb o BBeLohH (HHHBSHI?

a. GWITHS HeeveuflL b

b. umyTEBLOEBSHSHL L

C. GWwrssd SHomevaufld: SLemed  UTITEHOSIB  GHNSI(LPMBSHEHHS
o Lu(

d. @riuewL g Hmevenivd HemLFHUIL LD

e. alewL OFfwalsdensy

Which of the following 'writs', literally means "we command"?

a. Habeas Corpus b. Mandamus

c. Quo warranto d. Certiorari

e. Answer not known

&b  OFTeveuIL L auBmIiel  ‘BrmiseT  SiemetwiBHGBID’ e CUm(hei
2 _aWITHHISI LDGO)I.

a. 9 OBTenITe] LogD b. mewiL (Lperd

c. Gamoumyewt@Lm d. QameGuimym

e. alewL O flwalsdenev

A new All-India Service can be created by

a. An act of Parliament

b. An order of the President of India

c. A resolution of the Rajya Sabha

d. A resolution of the UPSC

e. Answer not known

UHW Sislev @bdHuwilt Lemiluienest L 2 (HaUTdhs SUIGILD
. LITJT@BLOGB FL L SH3HleT eLp6eLD
. GwrsHs Hemevaufler SLememTuledt LH6VLD
. LOTHleVmIGaT6ET Slemed SHTIOTETSHIH 6 CLPEVLD
. wHFHW vewilwmenT CaTeumenemridhglen STLOTEID eLP6VLD
. alenL g Mflwealedensv

The Marginal farmers in India, who holds land upto
a. 1 hectare b. 2 hectares
c. 4 hectares d. 10 hectares

e. Answer not known

BphHwraled GHmI aleusTulseT maUSH(HEHGSGLD HevHHT D66
a. 1 QamsGLT b. 2 GamsGLT

c. 4 Gam&GLT d. 10 Gam&GLT
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e. alemL G flwalevenev

The Chairman of the 13th Finance Commission is
a. N.K.P. Salve b. KC. Panth

c. Vrjay Kelkar d. Rangarajan

e. Answer not known

136ug HFS Gualer HemeveuT wimT?

a. o16r.8e.19. Fme0Geu b. Gzs.4. ubs

C. algul BmeouamiT d. grisyTeges

e. alonL  OFfwalsdensy

Who among the following was considered as the "Father of Indian
Uprising"?

a. Bal Gangadhar Tilak b. Bipin Chandra Pal

c. C.R. Das d. Gopala Krishna Gokhale
e. Answer not known

AhHw aWFAuleT HhHwd elerd SHBLULL L 6UT wimT?

a. UTe0 SRISTH] HeVHiT

b. et FhAy LMed

C. .. FHmerd

d. Gasmumew &magent GsmaGsv

e. allewL  OFflwealedensv

What is the mainstay of Indian Economy?

a. Business b. Agriculture

c. Public Sector Industries d. Manufacturing Sector
e. Answer not known

BphHW QUTHEMTHTISHHe0 LIFHTer GL 1D audlliug

a. GuewisID

b. efleugmuib

C. QuTEHIS FHIwB OHTLHBFTENEVHEI
d. 2 Buss S

e. allewL  OFflwealedensv

In 1895, Shivaji Movement was started by

a. Dadabhai Naoroji b. Mahatma Gandhi

c. Bal Gangadhar Tilak d. Subash Chandra Bose
e. Answer not known

1895 b opewip Fourgd BuissHmSH OCHTL MISIWeUT

a. sramumwl OpenGrmrey b. warsHLOT HMHS

C. LUT6V SMIETHJ SHeVHIT d. surey gpdy Gumerd
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e. alowL  OFMwalsdensy

Who said that, "All lives are alike at birth"?
a. Kambar b. Ilangovadigal
c. Thirumoolar d. Thiruvalluvar
e. Answer not known

‘UBlIGuUTEGID eteveom o ulliTdh@Id’ — 6IeIMBaIT.
a. &Lbui b. @enmmGsTaugHer
C. Hmepsort d. FHmeueiempeu

e. allewl  OFflwealedensv

Hem Chandra Kar's proclamation led to the outbreak of
revolt.

a. Indigo Revolt b. Pabna Revolt

c. Deccan Riots d. Kuka Revolt

e. Answer not known

Gamib gmHaHy Smilent LNFssL b SonTFFeG Ul UGHSHHII
a. ®eungBsr dlenired b. umiem @enirégd]

C. HHBTWIH BH6VBID d. gésr Henitsd

e. allewL  OFflwaisensu

C.N. Annadurai assumed the power as Chief Minister in the year

a. 1967 b. 1969 c. 1968 d. 1966

e. Answer not known

el  SlewIITHIM]  (PHeO  WHHTwns SFHamrsHHed  CuTBIIGUBMD
2hewi(b

a. 1967 b. 1969 c. 1968 d. 1966

e. allewL  OFflwealedensv

In the census of India which year some caste groups in Tamil Nadu
claimed Kshatriya status?
a. 1865 b. 1882 c. 1901 b. 2001

e. Answer not known

b eih @hHFHW 1dHH6eT CFHTmd HeIHOHBHLILND SHLODBTL 96T  Fl6v
gnulent FHHMW DbHervHenesr GamiilentT?

a. 1865 b. 1882 c. 1901 b. 2001

e. allewL  Oxfuwealedensv
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Karur Sedition Case was related to which movement?
a. Swedeshi Movement b. Indigo Movement
C. Quit India Movement d. Home Rule Movement
e. Answer not known
&epT Uflallenen eups@ 6hsd BusshCaHTH OHTLTLemL WgI?
a. 568x»d Busbsld
b. ®ewngBGsr BuidsID
C. GeuetememuiBerr GeoueMGuim Suidbald
d. seem 4 Quissid
e. alowL  OFfwalsdensy

If x % of 600 is 450, then find the value of x

a.75 b. 100 c. 125 d. 150
e. Answer not known

600 et x% ooz 450 ereolled X 661 LAIGLIGHTENT?
a.75 b. 100 c. 125 d. 150
e. allewL  OFflwalsvensv

Who wrote Puthukavithai (free verse) under the pen name
Pasuvayya?

a. Nagulan b. Sundara Ramasamy

c. KalaPiriya d. Vikramathithan

e. Answer not known

“‘UgdeuUIWIT® eTeiTemID Lewerll Guwifled Ugibsalend er(pSWIeuT wim?
a. [b&H6V6l b. @bsy grogmi

c. seumll LNflwm d. elsayiondsse

e. allewL  OFflwalsvensv

The text which praises the victories of Lord Vishnu belongs
genre.

a. Puranilai Valthu b. Vaal Mangalam

c. Kandazhi d. Vaayurai Valthu

e. Answer not known

FHmoreder Ceummlenuwi’l LsLpaIg) GTIEMILD  HIMHBUWITGLD.
a. UBBeme0 aIMDHSI b. eumeir mIBEVID

c. BhHBW d. eunwenp uMDSHS

e. alewL G flwailsdenev
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Mention the name of the Nayanar who built a Siva temple in his
mind?

a. Nesa Nayanar b. Sadaya Nayanar

c. Isai Nayanar d. Poosalar Nayanar

e. Answer not known

S HH G0 FeuCuHLOTeISGHSE GHTuled &L lgul HTUIEDITT

a. Gps BTWeITT b. gewLw BrwewTT

C. ®end BTG d. yaeorT mrwiewTT

e. alemL G flwaledensv

To which pre-historic time antiquity of terracotta art was traced back?
a. Chalcolithic Age b. Megalithic Age
c. Neolithic Age d. Iron Age

e. Answer not known

AUTTBRISE (WHWSW  6hEH HTeVH Sl L HHD FHBLW 2 (Houd HeM6D
UPSBSHDS AHSSI”

a. Q&b &Hmevld b. GuUEBIBBSTEOLD

C. UdHuw SHB&TevLD d. ®mibs SmevId

e. alewL OFflwalsvensy

Kapadapuram was engulfed by a sea during the reign of the Pandian
king

a. Kadungon b. Kaichinavazhuthi

c. Mudathirumaran d. Nedunchezhian

e. Answer not known

SUTLLJD &L 60T60 cppBlgbhslIl’ L. Curgl sl & OFulgh UTewIgul  LD6IT6T6H
a. sBRIGHTes b. sruifereaipd)

C. (IpL S (HLOTMB6H d. OBGEHCFIweT

e. alewL G fwailsdenev

Match the following :
List I List II
A. TNeGA 1. State Nodal Agency
B. E-Sevai 2. Online Service
C. TN-GIS 3. Remote Sensing Technology
D. Block chain back bone 4. Nambikkai Inaiyam
A B C D

1 2 3 4
2 1 3 4
1 2 4 3
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d 4 3 2 1
e. Answer not known
Leitau(henteuBens  CLIMT(HSHSHIH:
A. TNeGA . oGl GrTLed 66igeitd
B. & Gzemeu . DabpmendF GFemeussel
C. TN -GIS . OxTeneoueniTa] GEHTINEOHI LD
D. Block chain back bone . BLIHmD BeneutuiD
A B C D
1 2 3
2 1 3
1 2 4
.4 3 2
e. allewL  OFflwalsvensy

85. Match List I with List Il and choose the correct answer:
List I List II
A. State commission for women 1. Emergency response to
women
B. State Resource centre for women 2. Shelter to affected women
C. One stop crisis centre 3. Holistic empowerment
D. Women Helpline Scheme 4. To address gender issues
A B C
a. 4 2 1
b. 4 3 2
C. 1 4 2
d 2 4 1
e. Answer not known
aflewg | & auflews Il o et Qumpsd Fflwmer almLemu CxHiThHOHBHS:
aifleng 1 afleng 11
A. v &HETNT SLeM6OTUILD . oeusFy CprHdHled CUeNIBEHHE
2_56) el
B. mplev QuUemTIE6T aler . UTAHSSIUL L OIS EHESG
6mLOWILD UTGHISTLILIGTL LG

C. om Ppiss Cpyssly . QUIEITSHEHEBITET  (LP(LDEMLOUITEOT
EMLOWILD SIFH FHMTL061T & FH60
D. OQuewiser o 56l50%HTeneo6Ld]
Q&HTLITL 6TewT &L L LD . umedenr LIyFgenesigener
MBUWITETEUS]

A B C D
a. 4 2 1 3
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b. 4 3 2
C. 1 4 2
d 2 4 1
e. allewl  OFfwealedensv

To avail benefit under Sathiyavani Muthu Ammaiyar Ninaivu free
supply of sewing machine are

1. No age limit

2. No income limit

3. Destitute widow

4. Beneficiary should have female child

Among these, which are correct?

a. () and (2) b. (3)

c. (3) and (4) d. (4)

e. Answer not known

FhHFHWeumenil  (PHH  SIDMOWITT  [Hlenerey  Bevaud  MSHUIEL
AUPRIGLD FH L SHHT LiwleTer &Heir.

1. ezl euyibL &6venev

2. QU(HLDTET GUJIDL] E6L6M6V

3. iFHTUBB alHeme

4. vwemeiseT GUaTT GWHmS MeuSHH(HHE GCerewi(HLD
LNeitau(hLeUBmle0 6% FHwmer alenL ?

a. 1 mmib 2 b. 2

C. 3 1oBmIb 4 d. 4

e. alemL OFfwealeoensn

Find the sum of the series

122+ 132+ 142 + + 352

a. 14404 b. 14104 c. 14204
d. 14304 e. Answer not known
Leteumd OHTLMaT FnBBHemevd HTewIsb.
122+ 132+ 142 +

a. 14404 b. 14104 c. 14204
d. 14304 e. allewL  Oxfuwalstensy

The simple Interest at x% for x years will be Rs. x on a sum of

a. Rs. x b. Rs. (@J

X

X2

c. Rs. 100 x d. Rs. [@j

e. Answer not known
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SihBG X% allly eiHld X  aBEEhHEG 0 X SN IQUITSH
HLSHHOLPID HFL (OHTenDH) 666667

a. fh. X b. em. (@j

X

c. a5 100 x d . (@]

X2

e. alonL  OFfwalsdensy

Find next term.

e. Answer not known

e. allewL  OFiflwaledensv

If IS =26 and WAS = 38 then ARE will be equal to?

a.60 b.63 c. 57 d. 58 e. Answer not known
IS=2 wppid WSA =38 eaaied ARE 61 wdliy asB@ &Fob?

a. 60 b. 63 c. 57 d. 58 e. alew Gafuiaisdemnsv

Two coins are tossed together. What is the probability of getting
different faces on the coins?
a. 1l b. Va c. 2 d.3/4

e. Answer not known
@Orewi(h HTERIMISET QEIBTHE FeWIL LGS GIBer. @Jewni(h HTeniumidbeed
CeusiGouml (LPPBMIB6T HWLLILGHBEHTE HBHLDHHE 616016077

a. 1 b. Va c. 2 d.3/4
e. alemL OFHfwalevensv

Find the probability of getting a red ball from a bag containing 20 red
balls.

a.0 b.1 c.1/20 d.1/2

e. Answer not known
20 dleuliy BB UbSHISeT SILESW dUULIIBHSH @ Feuli] HBL UbS
SO LIUSHBHTH HHDHH6| SHT6I0IH.

a.0 b.1 c.1/20
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d.1/2 e. el Ozfuiaisoenev

The diagonal of a rectangle is V41 cm and its area is 20 Sq cm. What is
the perimeter of the rectangle?

a.9c¢ b.18 cm c. 20 cm

d. 41 cm e. Answer not known

Qm GFslussdar cpmevall LD 4l G185 wBmb ot Uiy 20
g.05.150 e1elled OF6lUBHH0T SHBB6I6) 6165160 !

a. 9 Qg.6 b. 18 Q5.8 c. 20 Q7.8

d. 41 Q5.8 e. allewL Oz fwailsdenev

If the base area of a hemispherical solid is 1386 sq. metres, then find
its total surface area.
a. 4158 m?3 b. 4158 m? c. 4185 m? d. 4185 m

e. Answer not known

QM SHewildb wis CameanddHer oSugliglin] 1386 g6 eTeiled, DiFHeot
QTHSL UBLILTLIeDHLES SHT6mIsh.

a. 4158 15 b. 4158 182 c. 4185 152 d. 4185 8

e. allewL  OFflwealedensv

A certain sum of money amounts to Rs. 10,080 in 5 years at 8%. Find
the principal

a. Rs. 7,000 b. Rs. 7,200 c. Rs. 7,100 d. Rs. 7,300

e. Answer not known

@k GUUILL Oxtmswrag 8% eally aibdhded 5 wiIBHeMe0
10,080 LFIBHI. DIFMEVDH BHTCWISH.

a. @ 7,000 b. @ 7,200 c. ap 7,100 d. . 7,300

e. allewL  OFflwalsvensv

In what time will Rs. 5,600 amount to Rs. 6,720 at 6% per annum?

a. 3 years b. 4 years c.3 % years d. 2 years

e. Answer not known

ahpmer ibselled ah 5,600 oLewiBHG 6% Holanly aihsHHed
6,720 &% 2 ul(hHb?

a.3 SIBE6N b. 4 syemiB®el

C. 3% LT (BB d. 2 semBser

e. allew  OFHflwialedsnsv
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Simplify: ——— 2, X3
"X 4+3x+2 x2-2x-3

X+1 T x+1
e. Answer not known
Si(H5(E5: X+2 X3
X*+3x+2 x*—2x-3
a. L b. =1
Xx+1 X+1

e. allewl  OFflwealedensv

Simplify:

_EJ_ 1{&2}8{5_1_&
3 37 2 4
1
60

Jafert]

A
60

e. allewL  OFfluialedensv

Find the ratio of H.C.F and the L.C.M. of the numbers 12 and 18.
a.1:6 b. 2:3 c.3:4 d.4:5

e. Answer not known

12 wmpd 18 odlw  aewidefler  15.0u.&T.  wBmId  WB.F.0  eler
AP HHMHH BTG,

a. 1:6 b. 2:3 c. 34 d.4:5

e. allewL  OFflwalsvensv

The L.C.M of two Co-Prime number is 6006. One of them is 66. Then
find the other number.
a. 1001 b. 101 c. 91 d. 6

e. Answer not known
& gt usr eewideaier L5.&.0. 6006. @ elewl 66 eleled LOBEBTT 6T6wT
6T60T601?

a. 1001 b. 101 c.91 d. 6
e. alowL  OFMwalsdensy
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